»or—
5

fow

Czhow much kller will 'l‘vvutrhb?

a
+an25 = G 2 120 (1und5)=a
559k Aa

b
Fon40= 35 2 120 Fendd=b = bz [00.b9

b-a=c = 100.09-5€.a¢ = U, F

. 30
A 150 utn X- +an584 = X ° X
5.4

X X - tand® 4 =10
+an384  4ansy .Y

X= B sz & D H

3. The angle of elevation of the top of a tree is 30° from a point 28 ft away from the foot
of the tree. Find the height of the tree rounded to the nearest feet.
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The three sides of the triangles are refe
each side of each triangle using angl¢

red to as Hypotenuse (H), Adjacent (A), and Opposite (O). Label
as your reference.
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Use the triangles below to write allxn'ig equation from the two acute angles.




